
���- ����� �	��
 -  ��
 ���� ���� ���� ���� 
����� ����
 ���� ����� �� 

�� �!
: ������#$ ���� ����� �� 
�
�% 
 
 

�� ����&� ����, ����� �!�� (��।                                                                                                                        1


	�%����
	�%����
	�%����
	�%����: : : :     *��
+����*��
+����*��
+����*��
+����((((----



---- ��������



        *.�/*.�/*.�/*.�/))))                          �
 �
 �
 �
 :::: � � � � 1+%� 1+%� 1+%� 1+%� �2 �2 �2 �2 �
�3%�
�3%�
�3%�
�3%    
 

3�
3�
3�
3�
((((����� ����� ����� ����� )))):                   *.�/*.�/*.�/*.�/((((����������������    ������������)))): 

Name    ((((In English)))):     Registration No: 

 [45 �6���7� �3�#89 :��3 �6� ��;�� <��। ;�=�� !> �?�
 
��! �	�<�� 
��� <�� 4�� �� !
� �#�� 
<��। �
� ��;	� 5���!/�� *�;� <� �@। ���5�
 �3! �3! �6��7 !
� �#�� <��।] 
3�3�3�3�        �
B��
B��
B��
B�    �6� �6� �6� �6�     
����    81 �% C�

 ��;	�� *D��E� 95 । 4�#� 
F	
 
�?        

The sum of 81 consecutive integers is 95. What is their median? 
93 

����    D�# 2<f<3 4�� –9<g< –1 < , ��<�� fg 4� �H��	 
��3� �	��F �3�8  
�। 
If 2<f<3 and –9<g< –1, then what is the range of possible values of fg. 

(–27,---- 2) 

IIII    2048 *
 J�% F3�K
 �L�8��;	�� M�E� �
��� 4
3N��� �
�$ 
�� <� *D3 ��;	� 
J�%� 
�F	 ���8
	 �����  

 < । *�5 ���8
	 
�?  
If 2048 is written as a product of two positive integers whose difference is as small 
as possible, then what is the difference?  

32 

OOOO    ABCD ���NL8�! AB = 14, BC = 6, CD = 8 4�� AD=AC=X । X 4� �H��	 
��3� 
�	��F �3�8  
�। 
In Quadrilateral ABCD,  AB = 14, BC = 6, CD = 8 and AD=AC=X.  Find the 
range of possible values of X.         

(8,20) 

2222    �?6: ���NL8! PQRS 4 PS = SR । PR P QS ��Q��
 O ��R�� *@# 
��। PS 

= 12 4�� OS = 6 <�� OQ = 
�? 

PQRS is a cyclic quadrilateral, where PS = SR. PR and QS intersect each other at 
point O. If PS = 12 and OS = 6. Find OQ. 

18 

SSSS    7 T��� 4
�% ��;	� N *
 N�� 
��� N��E� N���$�U� �TM� < । 7 4� *��  �= *
�3 
��;	� �#�  N ��V5 �3W�$�U ��N�!	 <��? 
When N is divided by 7, the quotient is twice the remainder. What is the number 
greater than 7 that must divide N?  

15 

XXXX    f(x) 4
3 4
�% E��$3 *D3  
(
) f (x+ y)= x+ f (y) 4�� x P yJ�% ��Y� ��;	� 
(;) f (0)= 19 

f (1952) 4� 
�3 
�? 
Let f(x) be a function with the two properties  
(a) for any two real numbers x and y, f (x+ y)= x+ f (y) 
and (b) f (0)= 19 
What is the value of f (1952)?   

1971 
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ZZZZ    ����% ��R A, B, C, D C�
 4
3N��� *3P � <���,  D��� ���� 4
5 *�;�� 
��� ���
 4�� X ��R�% [ *�;�� ��� 3� ���
। 4�� �7NL! XAB  P XCD 
4� *\7E� �
�3 <���। AB = 8 4�� BC = 5 <�� AD 4� ]#18	 
�?  

Four points are chosen in the order A, B, C, D on a line such that there is a point 
X, not on that line, so that triangles XAB  and XCD have the same area. If AB = 8 
and BC = 5, find the length AD.  

21 

----    4
�% ��^��3 ����% *#�$� ���
� J�% ;�_�%�� 4
3N��� P=��� <�� *D3 
*
��3� ;�_�% ���
�$L> 3� ���
 4�� *
��3� ���
� ��# 3� D� । 4
5 ;�_�%� 
4
5 �`��  4
�%� *��$ ���
� ��
�� 3�,  ��� ���� �� �3�� ��
�� ����। 
4N��� 4
�% ;�_�%�� 4
��F
 ���
� C
�a�  �����3� D���। 
�N��� ���
�M��� 
P=��3� �H�?  
At a convention, flags of 4 countries are to be hoisted on 2 poles so that no pole is 
left empty and all the flags get hoisted. More than one flag must not be placed at 
the same height of the same pole. Rather, they can be placed above or below an 
already placed flag. In this manner, more than one flag can be placed serially on a 
single pole. How many ways can the flags be hoisted? 

3.4! 
= 
72 
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BC = 6;  ;  ;  ;  CD=CE,  CDGF ���N�8�!� *D 
��$ [ �?6����� ��5�� ��@ ��� *\7E��
 

4
.

3
ππππc

ba −−−−−−−−  �
��� *�;� D� , *D;��3 a, b, 

c �L�8 ��;	�। a+b+c 4� 
�3 *�� 
�। 
ABCD is a rectangle where AB = 3, BC = 6 
and CD=CE. The area of the part of the 
quadrangle CDGF that lies outside the 
circular arc can be expressed as 

4
.

3
ππππc

ba −−−−−−−− where a, b, c are integers. 

Find a+b+c 

30    

 


